Fixed Point Theory, 24(2023), No. 2, 743-752 DOI: 10.24193/fpt-ro.2023.2.18 http://www.math.ubbcluj.ro/~nodeacj/sfptcj.html

CONVERGENCE OF S-ITERATION FOR NONLINEAR OPERATORS

JULEE SRIVASTAVA

Department of Mathematics and Statistics DDU Gorakhpur University Gorakhpur-273009, Uttar Pradesh, India E-mail: mathjulee@gmail.com

Abstract. In this paper the Halpern type S-iteration process introduced by D. R. Sahu is further analyzed for different class of nonlinear nonexpansive mappings in uniformly convex Banach space. Key Words and Phrases: Fixed point, nonexpansive mappings, uniformly convex Banach spaces. 2020 Mathematics Subject Classification: 47H09, 47H10, 47J25.

1. INTRODUCTION

Let K be a nonempty subset of a real normed linear space E. A mapping T from K to E is called nonexpansive if $||Tx - Ty|| \leq ||x - y||$ for all $x, y \in C$. Let H be a Hilbert space with inner product $\langle ., . \rangle$ and norm ||.||, respectively. Let C be a nonempty, closed and convex subset of H and $A: C \to H$ a nonlinear operator.

It is well known that the sequence $\{T^n x\}$ of iterates of nonexpansive operator T at a point $x \in C$ may in general, not behave well. This means that it may not converge in weak topology. Further we use Krasnoselskij Mann (KM) iteration method [[2], [4]] that produces a sequence $\{x_n\}$ via the recursive manner:

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n \quad for \ all \ n \in \mathbb{N},$$

where the initial guess $x_1 \in C$ is chosen arbitrarily and $\{\alpha_n\}$ is a real sequence in [0,1]. It is worth noting that the KM iteration process is well known for finding fixed points of nonexpansive operators.

In 2009, Agarwal *et al.* [1] have defined the S-iteration process as follows: Let E be a normed linear space, C a nonempty convex subset of E and $T : C \to C$ an operator. Then, for arbitrary $x_1 \in C$, the S-iteration process is defined by

(S)
$$\begin{cases} x_{n+1} = (1 - \alpha_n)Tx_n + \alpha_nTy_n, \\ y_n = (1 - \beta_n)x_n + \beta_nTx_n, \quad n \in \mathbb{N}, \end{cases}$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are real sequences in (0,1) satisfying the condition:

$$\sum_{n=1}^{\infty} \alpha_n \beta_n (1 - \beta_n) = \infty.$$

It has also been shown that S-iteration process is faster than the Picard iteration process for contraction operators.

In 1997, Browder [2] and Halpern [5] proved independently the strong convergence of the path $\{x_t = tu + (1-t)Tx_t : t \in (0,1)\}$ as $t \to 0$ for nonexpansive operator Tin a Hilbert space H. After Browder's result, such a problem has been investigated by several authors for example, Singh and Watson [8], Marino and Trombetta [6] and others. In 1998, W. Takahashi and G. E. Kim [9] defined contraction S_t and U_t from C into X by

$$S_t x = tPTx + (1-t)u$$
 for all $x \in C$,

and

$$U_t x = P(tTx + (1-t)u) \quad for \ all \ x \in C,$$

where C is a closed and convex subset of a reflexive Banach space X and P is a sunny nonexpansive retraction from X onto C.

The purpose of this paper is to further analyze Halpern type S-iteration process for nonlinear operator which generalizes Theorem 5.4 [7] for nonself mapping.

2. Preliminaries

Let X be a Banach space and S_X denote the unit sphere $S_X = \{x \in X : ||x|| = 1\}$. A Banach space X is said to be strictly convex if

 $x, y \in S_X$ with $x \neq y \implies ||(1 - \lambda)x + \lambda y|| < 1$ for all $\lambda \in (0, 1)$. Recall that a Banach space X is said to be smooth provided the limit

$$\lim_{t \to 0} \frac{\|x + ty\| - \|x\|}{t}$$

exists for each $x, y \in S_X$. In this case, the norm of X is said to be Gateaux differentiable. It is said to be uniformly Gateaux differentiable if for each $y \in S_X$ this limit is attained uniformly for $x \in S_X$. It is well known that every uniformly smooth space (e.g. L_p space (1) has uniformly Gateaux differentiable norm.

Let *E* be an arbitrary real normed linear space with dual space E^* . We denote *J* the normalized duality mapping from *E* into 2^{E^*} defined by

$$J(x) = \left\{ f^* \in E^* : \langle x, f^* \rangle = \|x\|^2 = \|f^*\|^2 \right\}, \quad x \in E,$$

where $\langle ., . \rangle$ denotes the generalized duality pairing. Then for each $x, y \in E$, there exists $j(x+y) \in J(x+y)$ such that

$$||x + y||^{2} \le ||x||^{2} + 2\langle y, j(x + y) \rangle.$$

It is well known that J is single-valued iff X is smooth. It is also known that if X has a uniformly Gateaux differentiable norm, J is uniformly continuous on bounded sets when X has its strong topology while X^* has its *weak*^{*} topology.

A closed convex subset C of Banach space X is said to have a normal structure if for

744

each bounded closed convex subset K of C, which contains at least two points, there exists an element of K, which is not a diameteral point of K. It is well known that a closed convex subset of a uniformly convex Banach space has normal structure and a compact convex subset of Banach space has normal structure.

A subset C of a Banach space X is called a retract of X, if there exists a continuous mapping P from X onto C such that Px = x for all $x \in C$. We call such P a retraction of X onto C. It follows that if a mapping P is a retraction, then Py = y for all y in the range of P. A retraction P is said to be sunny if P(Px + t(x - Px)) = Px for each $x \in X$ and $t \ge 0$. If a sunny retraction P is also nonexpansive, then C is said to be sunny nonexpansive retract of X.

The existence of fixed point for nonself nonexpansive mapping is given by the following lemmas:

Lemma 2.1. ([1], Theorem 5.2.26) Let C be a nonempty closed convex bounded subset of a uniformly convex Banach space X and $T: C \to X$ a weakly inward nonexpansive mapping. Then T has a fixed point in C.

The following theorem shows the convergence of path for nonself nonexpansive mapping.

Lemma 2.2. ([9], Theorem 3) Let X be a reflexive Banach space with uniformly Gateaux differentiable norm. Let C be a nonempty closed convex subset of X which has normal structure and let $T: C \to X$ be a nonexpansive nonself mapping satisfying the weak inwardness condition. Suppose that C is sunny nonexpansive retract of X and for some $u \in C$ and each $t \in (0, 1)$, $y_t \in C$ is a (unique) fixed point of contraction U_t defined by

$$U_t x = P(tTx + (1-t)u),$$

where P is a sunny nonexpansive retraction of X onto C. Then T has a fixed point iff $\{y_t\}$ remains bounded as $t \to 1$. In this case, $\{y_t\}$ converges strongly as $t \to 1$ to a fixed point of T.

3. Strong convergence of Halpern type S-iteration process

Motivated by the works of D. R. Sahu [7], we propose the following algorithms for nonself mapping to further analyze Halpern type S-iteration process for nonlinear operator. We generalize Theorem from self mapping to nonself mapping.

Algorithm 3.1. Let C be a nonempty closed convex subset of Banach space X and $T: C \to X$ an operator. Given $u, x_1 \in C$, a sequence $\{x_n\}$ in C is constructed as follows:

$$\begin{aligned} x_{n+1} &= P\left[(1-\alpha_n)Tx_n + \alpha_nTy_n\right], \\ y_n &= (1-\beta_n)x_n + \beta_n u, \quad n \in \mathbb{N}, \end{aligned}$$
(3.1)

where $\{\alpha_n\}$ and $\{\beta_n\}$ are two sequences in (0,1] satisfying the following condition:

(C1) $\lim_{n \to \infty} \beta_n = 0$, $\lim_{n \to \infty} \frac{\alpha_n}{\alpha_{n+1}} = \lim_{n \to \infty} \frac{\beta_n}{\beta_{n+1}} = 1$ and $\sum_{n=1}^{\infty} \alpha_n \beta_n = \infty$, where *P* is a sunny nonexpansive retraction of *X*. Algorithm 3.2. Let C be a nonempty closed convex subset of a Banach space Xand $T: C \to X$ an operator. Given $u, x_1 \in C$, a sequence $\{x_n\}$ in C is constructed as follows:

$$\begin{aligned} x_{n+1} &= P\left[(1-\lambda)Tx_n + \lambda Ty_n\right] \\ y_n &= (1-\beta_n)x_n + \beta_n u, \quad n \in \mathbb{N}, \end{aligned}$$
 (3.2)

where $\lambda \in (0,1]$ and $\{\beta_n\}$ is sequence in (0,1] satisfying the following condition:

(C2)
$$\lim_{n \to \infty} \beta_n = 0$$
, $\lim_{n \to \infty} \frac{\beta_n}{\beta_{n+1}} = 1$ and $\sum_{n=1}^{\infty} \beta_n = \infty$,
where *P* is a sunny nonexpansive retraction of *X*.

where P is a sunny nonexpansive retraction of X.

Lemma 3.1. Let X be a smooth Banach space. Then

$$||x+y||^2 \le ||x||^2 + 2\langle y, J(x+y) \rangle$$
 for all $x, y \in X$.

Lemma 3.2. Let $\{a_n\}$ be a sequence of nonnegative real numbers satisfying:

$$a_{n+1} \leq (1-t_n)a_n + t_n b_n \text{ for all } n \in \mathbb{N},$$

where $\{b_n\}$ and $\{t_n\}$ are sequences of real numbers which satisfy the conditions: (i) $\{t_n\} \subset [0,1]$ and $\sum_{n=1}^{\infty} t_n = \infty$ and (ii) $\limsup_{n \to \infty} b_n = 0.$ Then $\lim_{n \to \infty} a_n = 0.$

Proposition 3.3. Let C be a nonempty closed convex subset of a Banach space Xand $T: C \to X$ a nonexpansive operator such that $F(T) \neq \emptyset$. For given $u, x_1 \in C$, let $\{x_n\}$ be a sequence in C generated by Algorithm 3.1. Then we have $\{x_n\}$ and $\{y_n\}$ are bounded.

Proof. Suppose $p \in F(T)$. From Algorithm 3.1, we have

$$||y_n - p|| \leq (1 - \beta_n) ||x_n - p|| + \beta_n ||u - p||.$$
(3.3)

Since

$$\begin{aligned} \|x_{n+1} - p\| &= \|P\left[(1 - \alpha_n)Tx_n + \alpha_nTy_n\right] - Pp\| \\ &\leq \|(1 - \alpha_n)(Tx_n - p) + \alpha_n(Ty_n - p)\| \\ &\leq (1 - \alpha_n) \|Tx_n - p\| + \alpha_n \|Ty_n - p\| \\ &\leq (1 - \alpha_n) \|x_n - p\| + \alpha_n [(1 - \beta_n) \|x_n - p\| + \beta_n \|u - p\|] \\ &\leq (1 - \alpha_n) \|x_n - p\| + (\alpha_n - \alpha_n\beta_n) \|x_n - p\| + \alpha_n\beta_n \|u - p\| \\ &= (1 - \alpha_n\beta_n) \|x_n - p\| + (\alpha_n\beta_n \|u - p\| \\ &\leq \max \{\|x_n - p\|, \|u - p\|\} \\ &\vdots \\ &\leq \max \{\|x_1 - p\|, \|u - p\|\}. \end{aligned}$$
(3.4)

746

Thus, $\{x_n\}$ is bounded and hence from (3.3), $\{y_n\}$ is bounded. **Theorem 3.4.** Let C be a nonempty closed convex subset of a Banach space X and $T: C \to X$ a nonexpansive operator such that $F(T) \neq \emptyset$. For given $u, x_1 \in C$, let $\{x_n\}$ be a sequence in C generated by Algorithm 3.1. Then $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$. *Proof.* Observe that

$$\begin{aligned} \|x_{n+1} - x_n\| &= \left\| P\left[(1 - \alpha_n) T x_n + \alpha_n T y_n \right] \\ &- P\left[(1 - \alpha_{n-1}) T x_{n-1} + \alpha_{n-1} T y_{n-1} \right] \right\| \\ &\leq \left\| \left[(1 - \alpha_n) T x_n + \alpha_n T y_n \right] \\ &- \left[(1 - \alpha_{n-1}) T x_{n-1} + \alpha_{n-1} T y_{n-1} \right] \right\| \\ &= \left\| (1 - \alpha_n) T x_n - (1 - \alpha_n) T x_{n-1} + (1 - \alpha_n) T x_{n-1} + \alpha_n T y_n \\ &- \alpha_n T y_{n-1} + \alpha_n T y_{n-1} - (1 - \alpha_{n-1}) T x_{n-1} - \alpha_{n-1} T y_{n-1} \right\| \\ &\leq \left((1 - \alpha_n) \|x_n - x_{n-1}\| + \alpha_n \|y_n - y_{n-1}\| \\ &+ |\alpha_n - \alpha_{n-1}| \|x_{n-1} - y_{n-1}\| \right]. \end{aligned}$$
(3.5)

Now,

$$\begin{aligned} \|y_n - y_{n-1}\| &= \|[(1 - \beta_n)x_n + \beta_n u] - [(1 - \beta_{n-1})x_{n-1} + \beta_{n-1}u]\| \\ &= \|(1 - \beta_n)x_n - (1 - \beta_n)x_{n-1} + (1 - \beta_n)x_{n-1} \\ &- (1 - \beta_{n-1})x_{n-1} + (\beta_n - \beta_{n-1})u\| \\ &\leq (1 - \beta_n) \|x_n - x_{n-1}\| + |\beta_n - \beta_{n-1}| (\|u\| + \|x_{n-1}\|) \\ &\leq (1 - \beta_n) \|x_n - x_{n-1}\| + |\beta_n - \beta_{n-1}| K_1 \end{aligned}$$
(3.6)

for some constant $K_1 > 0$. From proposition 3.3, $\{x_n\}$ is bounded, so

$$\begin{aligned} \|x_{n-1} - y_{n-1}\| &= \beta_{n-1} \|x_{n-1} - u\| \\ &\leq \beta_{n-1} \left(\|x_{n-1}\| + \|u\| \right) \\ &\leq \beta_{n-1} K_1 \end{aligned}$$
(3.7)

for some constant $K_2 > 0$. Using (3.6) and (3.7) in (3.5), we have

$$\begin{aligned} \|x_{n+1} - x_n\| &\leq (1 - \alpha_n) \|x_n - x_{n-1}\| + \alpha_n \Big[(1 - \beta_n) \|x_n - x_{n-1}\| \\ &+ |\beta_n - \beta_{n-1}| K_1 \Big] + |\alpha_n - \alpha_{n-1}| \|x_{n-1} - y_{n-1}\| \\ &\leq (1 - \alpha_n \beta_n) \|x_n - x_{n-1}\| + \alpha_n |\beta_n - \beta_{n-1}| K_1 \\ &+ |\alpha_n - \alpha_{n-1}| \beta_{n-1} K_2 \end{aligned}$$

JULEE SRIVASTAVA

$$= (1 - \alpha_n \beta_n) \|x_n - x_{n-1}\| + \alpha_n \beta_n \left| 1 - \frac{\beta_{n-1}}{\beta_n} \right| K_1$$

$$+ \alpha_n \beta_{n-1} \left| 1 - \frac{\alpha_{n-1}}{\alpha_n} \right| K_2$$

$$= (1 - \alpha_n \beta_n) \|x_n - x_{n-1}\| + \alpha_n \beta_n \left| 1 - \frac{\beta_{n-1}}{\beta_n} \right| K_1$$

$$+ \alpha_n \beta_{n-1} \left| 1 - \frac{\alpha_{n-1}}{\alpha_n} \right| K_2$$

$$= (1 - \alpha_n \beta_n) \|x_n - x_{n-1}\|$$

$$+ \alpha_n \beta_n \left[\left| 1 - \frac{\beta_{n-1}}{\beta_n} \right| K_1 + \frac{\beta_{n-1}}{\beta_n} \left| 1 - \frac{\alpha_{n-1}}{\alpha_n} \right| K_2 \right]$$
(3.8)

Using condition (C1), we have

$$\lim_{n \to \infty} \left| 1 - \frac{\alpha_{n-1}}{\alpha_n} \right| = 0 \text{ and } \lim_{n \to \infty} \left| 1 - \frac{\beta_{n-1}}{\beta_n} \right| = 0.$$

Using Lemma 3.2, we have

$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$

Hence

$$\begin{aligned} \|x_n - Tx_n\| &= \|x_n - PTx_n\| \\ &= \|x_n - x_{n+1} + x_{n+1} - PTx_n\| \\ &\leq \|x_n - x_{n+1}\| + \|x_{n+1} - PTx_n\|. \end{aligned}$$
(3.9)

Consider,

$$\begin{aligned} \|x_{n+1} - PTx_n\| &= \|P\left[(1 - \alpha_n)Tx_n + \alpha_nTy_n\right] - PTx_n\| \\ &\leq \|(1 - \alpha_n)Tx_n + \alpha_nTy_n - Tx_n\| \\ &= \|\alpha_n(Ty_n - Tx_n)\| \\ &= \alpha_n\|Ty_n - Tx_n\| \\ &\leq \alpha_n\|y_n - x_n\| \\ &= \alpha_n\|\beta_n(x_n - u)\| \\ &= \alpha_n\beta_n\|x_n - u\| \to 0 \text{ as } n \to \infty. \end{aligned}$$

Hence (3.9) becomes

$$||x_n - Tx_n|| \to 0 \text{ as } n \to \infty.$$

Lemma 3.5. Let X be a Banach space with a uniformly Gateaux differentiable norm, C a nonempty closed convex subset of X, Let $T : C \to X$ a nonexpansive mapping and $\{x_n\}$ is a bounded sequence in C such that $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$. Suppose $\{z_t\}$ is a path in C defined by $z_t = P((1-t)Tz_t + tu), t \in (0,1)$ such that $z_t \to z$ as $t \to 0^+$. Then

$$\limsup_{n \to \infty} \langle u - z, J(x_n - z) \rangle \le 0.$$

Proof. Since $z_t - x_n = z_t - Px_n = P((1-t)Tz_t + tu) - Px_n$. Now, we consider

$$\begin{aligned} \|z_t - x_n\|^2 &= \langle z_t - x_n, J(z_t - x_n) \rangle \\ &= \langle P((1-t)Tz_t + tu) - Px_n, J(z_t - x_n) \rangle \\ &\leq \langle (1-t)(Tz_t - x_n) + t(u - x_n) - Px_n, \\ J(z_t - x_n) \rangle \\ &\leq (1-t) \langle Tz_t - x_n, J(z_t - x_n) \rangle \\ &+ t \langle u - x_n, J(z_t - x_n) \rangle \\ &= (1-t) \langle Tz_t - Tx_n + Tx_n - x_n, J(z_t - x_n) \rangle \\ &+ t \langle u - z_t + z_t - x_n, J(z_t - x_n) \rangle \\ &\leq (1-t) \|z_t - x_n\|^2 + (1-t) \langle Tx_n - x_n, \\ J(z_t - x_n) \rangle + t \langle u - z_t, J(z_t - x_n) \rangle \\ &+ t \|z_t - x_n\|^2 \\ t \langle u - z_t, J(x_n - z_t) \rangle &\leq (1-t) \|Tx_n - x_n\| \|z_t - x_n\| \\ &\langle u - z_t, J(x_n - z_t) \rangle &\leq \frac{1}{t} \|Tx_n - x_n\| K_1 \end{aligned}$$

for some constant $K_1 > 0$. It follows that

i.e.

$$\limsup_{n \to \infty} \langle u - z_t, J(x_n - z_t) \rangle \leq 0.$$
(3.10)

Further, since $z_t \to z$ as $t \to 0$. The set $\{z_t - x_n\}$ is bounded and the duality mapping J is norm to weak^{*} uniformly continuous on bounded subsets of X, it follows that

$$\begin{aligned} \left| \langle (u-z), J(x_n-z) \rangle - \langle (u-z_t), J(x_n-z_t) \rangle \right| &= \left| \langle u-z, J(x_n-z) - J(x_n-z_t) \rangle \right| \\ &+ \langle (u-z) - (u-z_t), J(x_n-z_t) \rangle \right| \\ &\leq \left| \langle u-z, J(x_n-z) - J(x_n-z_t) \rangle \right| \\ &+ \left| \langle (u-z) - (u-z_t), J(x_n-z_t) \rangle \right| \\ &= \left| \langle u-z, J(x_n-z) - J(x_n-z_t) \rangle \right| \\ &+ \left\| (u-z) - (u-z_t) \right\| \|x_n - z_t\| \\ &\to 0 \quad as \quad t \to 0^+. \end{aligned}$$

Let $\epsilon > 0$. Then there exists $\delta > 0$ such that

$$\langle u-z, J(x_n-z) \rangle < \langle u-z_t, J(x_n-z_t) \rangle + \epsilon,$$

for all $n \in \mathbb{N}$ and $t \in (0, \delta)$. We have

$$\limsup_{n \to \infty} \langle u - z, J(x_n - z) \rangle < \limsup_{n \to \infty} \langle u - z_t, J(x_n - z_t) \rangle + \epsilon \leq \epsilon.$$

Since ϵ is arbitrary, we obtain that

$$\limsup_{n \to \infty} \langle u - z, J(x_n - z) \rangle \le 0.$$

Theorem 3.6. Let X be a uniformly convex Banach space whose norm is uniformly Gateaux differentiable, C a nonempty closed convex subset of X and $T : C \to X$ a nonexpansive operator satisfying weakly inwardness condition with $F(T) \neq \emptyset$. For given $u, x_1 \in C$, let $\{x_n\}$ be a sequence in C generated by Algorithm 3.1. Then $\{x_n\}$ converges strongly to a fixed point of T.

Proof. Using Lemma 2.2, we see that the path $\{z_t\}$ defined by

$$z_t = (1-t)Tz_t + tu$$
, for $t \in (0,1)$

converges strongly to F(T) as $t \to 0^+$. Let $z = \lim_{t\to 0} z_t$, by Lemma 3.1, we get

$$||y_n - z||^2 = ||(1 - \beta_n)(x_n - z) + \beta_n(u - z)||^2$$

$$\leq (1 - \beta_n)||x_n - z||^2 + 2\beta_n \langle u - z, J(y_n - z) \rangle.$$
(3.11)

Now, since X is uniformly convex, there exists a continuous strictly convex function $\phi : \mathbb{R}^+ \longrightarrow \mathbb{R}^+$ such that $\phi(0) = 0$ and

$$\|\lambda x + (1-\lambda)y\|^2 = \lambda \|x\|^2 + (1-\lambda)\|y\|^2 - \lambda(1-\lambda)\phi(\|x-y\|)$$
(3.12)

for all $x, y \in X$ with $||x|| \leq r$, $||y|| \leq r$ and for all $\lambda \in [0, 1]$ and for some r > 0. Choose r > 0 large enough so that $||Tx_n - z|| \leq r$ for all $n \in \mathbb{N}$. From (3.12), we have

$$||x_{n+1} - z||^{2} = ||P[(1 - \alpha_{n})Tx_{n} + \alpha_{n}Ty_{n}] - Pz||$$

$$\leq ||(1 - \alpha_{n})(Tx_{n} - z) + \alpha_{n}(Ty_{n} - z)||^{2}$$

$$\leq (1 - \alpha_{n})||Tx_{n} - z||^{2} + \alpha_{n}||Ty_{n} - z||^{2}$$

$$\leq (1 - \alpha_{n})||x_{n} - z||^{2} + \alpha_{n}||y_{n} - z||^{2}$$

$$\leq (1 - \alpha_{n}\beta_{n})||x_{n} - z||^{2} + 2\alpha_{n}\beta_{n} \langle u - z, J(y_{n} - z) \rangle$$

$$\leq (1 - \alpha_{n}\beta_{n})||x_{n} - z||^{2} + \lambda_{n}\sigma_{n}, \qquad (3.13)$$

where $\lambda_n = \alpha_n \beta_n$ and $\sigma_n = \langle u - z, J(y_n - z) \rangle$. Since

$$\sum_{n=1}^{\infty} \lambda_n = \infty \text{ and } \limsup \sigma_n \le 0$$

using Lemma 3.5. Hence we conclude from Lemma 3.2 that $\{x_n\}$ converges strongly to z.

Example 3.7. Let X = R with absolute norm. Let C = [-2, 2] and let $T : C \to X$ be defined by Tx = -x a nonexpansive operator satisfying weakly inwardness condition and F(T) = 0. For $u = x_1 = 1/2$. let $\{x_n\}$ be a sequence in C generated by Algorithm 3.1 for $\alpha_n = 1$ and $\beta_n = 1/n$ satisfying condition (C1) then we can see that sequence $\{x_n\}$ converges strongly to 0, a fixed point of T.

Corollary 3.8. Let X be a uniformly convex Banach space whose norm is uniformly Gateaux differentiable, C a nonempty closed convex subset of X and $T : C \to X$ a nonexpansive operator satisfying weakly inwardness condition with $F(T) \neq \emptyset$. For

given $u, x_1 \in C$, $\{x_n\}$ be a sequence in C generated by Algorithm 3.2. Then sequence $\{x_n\}$ converges strongly to the fixed point of T.

Proof. Let us take $\alpha_n = \lambda$ for all $n \in \mathbb{N}$ in Algorithm 3.1. Then Algorithm 3.2 with condition (C2) is same as Algorithm 3.1 with condition (C1). Hence it follows from Theorem 3.2.

Theorem 3.9. Let X be a uniformly convex Banach space whose norm is uniformly Gateaux differentiable, C a nonempty closed convex subset of X and $T : C \to X$ a nonexpansive operator satisfying weakly inwardness condition with $F(T) \neq \emptyset$. For given $u, x_1 \in C, \{x_n\}$ be a sequence in C generated by

$$x_{n+1} = PT\left[(1 - \beta_n)x_n + \beta_n u\right], \quad n \in \mathbb{N},$$

where $\{\beta_n\}$ is a sequence in (0,1] satisfying the condition (C2). Then $\{x_n\}$ converges strongly to the fixed point of T.

References

- R.P. Agarwal, D. O'Regan, D.R. Sahu, Fixed Point Theory for Lipschitzian-Type Mappings with Applications, 6, Springer New York, 2009.
- [2] F.E. Browder, Convergence of approximants to fixed points of nonexpansive nonlinear maps in Banach spaces, Arch. Rat. Mech. Anal., 24(1967), 82-90.
- [3] C.L. Bryne, A unified treatment of some iterative algorithms in signal processing and image reconstructing, Inverse Problems, 20(2004), 103-120.
- [4] P. Combettes, Fejer Monotonicity in Convex Optimization Encyclopedia of Optimization, (C.A. Floudas and P.M. Pardalos, eds.), Boston, MA, Kluwer, 2000.
- [5] B. Halpern, Fixed points of nonexpanding maps, Bull. Amer. Math. Soc., 73(1967), 957-961.
- [6] G. Marino, G. Trombetta, On approximating fixed points of nonexpansive maps, Indian J. Math., 34(1992), 91-98.
- [7] D.R. Sahu, Applications of the S-iteration process to constrained minimization problems and split feasibility problems, Fixed Point Theory, 12(2011), no. 1, 187-204.
- [8] S.P. Singh, B. Watson, On approximating fixed points, Proc. Symp. Pure. Math., 45(1986), 393-395.
- [9] W. Takahashi, G.E. Kim, Strong convergence of approximants to fixed points of nonexpansive nonself mappings in Banach spaces, Nonlinear Analysis, 32(1998), 447-454.
- [10] H.K. Xu, X.M. Yin, Strong convergence theorems for nonexpansive nonself mappings, Nonlinear Analysis, 24(1995), 223-228.

Received: March 10, 2021; Accepted: September 22, 2022.

JULEE SRIVASTAVA

752